

Inequalities in De Morgan Systems I

Carol Walker and Elbert Walker
 New Mexico State University
 Las Cruces, NM 88003
 hardy@nmsu.edu, elbert@nmsu.edu

Abstract—In a Boolean algebra, every element has two canonical forms, its disjunctive normal form (BDNF) and its conjunctive normal form (BCNF). If these elements are viewed in the algebra consisting of the unit interval with operations min, max, and the usual negation, the inequality $\text{BDNF} \leq \text{BCNF}$ always holds. If the operations min and max in this algebra are replaced by a t-norm and its t-conorm dual to the usual negation, the resulting inequality holds sometimes and fails sometimes. This paper examines this phenomenon, especially in the two variable case, which has been of interest to Turksen.

Index Terms—Inequality, t-norm, normal form

I. INTRODUCTION

In a Boolean algebra, every element has two canonical forms, its disjunctive normal form (BDNF) and its conjunctive normal form (BCNF). If these elements are viewed in the algebra consisting of the unit interval with operations min, max, and the usual negation, the inequality $\text{BDNF} \leq \text{BCNF}$ always holds. This fact is readily seen from the development of Kleene disjunctive and Kleene conjunctive normal forms [3], and holds for any finite number of variables. If the operations min and max in this algebra are replaced by a t-norm and its t-conorm dual with respect to the usual negation, the resulting inequality holds sometimes and fails sometimes. This paper examines this phenomenon, especially in the two variable case, the case which has been of interest to Turksen [5], [6], [7].

Boolean Disj. = Boolean Conj.	Short form
$(x \wedge y) \vee (x' \wedge y) \vee (x \wedge y') \vee (x' \wedge y') = 1$	1
$0 = (x \vee y) \wedge (x' \vee y) \wedge (x \vee y') \wedge (x' \vee y')$	0
$(x \wedge y) \vee (x \wedge y') \vee (x' \wedge y) = x \vee y$	$x \vee y$
$x' \wedge y' = (x \vee y') \wedge (x \vee y) \wedge (x' \vee y')$	$x' \wedge y'$
$(x' \wedge y) \vee (x \wedge y') \vee (x' \wedge y') = x' \vee y'$	$x' \vee y'$
$x \wedge y = (x \vee y) \wedge (x \vee y') \wedge (x' \vee y)$	$x \wedge y$
$(x \wedge y) \vee (x' \wedge y') \vee (x' \wedge y) = x' \vee y$	$x' \vee y$
$x \wedge y' = (x \vee y) \wedge (x \vee y') \wedge (x' \vee y')$	$x \wedge y'$
$(x \wedge y) \vee (x \wedge y') \vee (x' \wedge y') = x \vee y'$	$x \vee y'$
$x' \wedge y = (x \vee y) \wedge (x' \vee y) \wedge (x' \vee y')$	$x' \wedge y$
$(x \wedge y) \vee (x' \wedge y') = (x \vee y') \wedge (x' \vee y)$	$x \Leftrightarrow y$
$(x \wedge y') \vee (x' \wedge y) = (x \vee y) \wedge (x' \vee y')$	$x \Leftrightarrow y'$
$(x \wedge y) \vee (x \wedge y') = (x \vee y) \wedge (x \vee y')$	x
$(x' \wedge y) \vee (x' \wedge y') = (x \vee y) \wedge (x \vee y')$	x'
$(x \wedge y) \vee (x' \wedge y) = (x \vee y) \wedge (x' \vee y)$	y
$(x \wedge y') \vee (x' \wedge y') = (x \vee y') \wedge (x' \vee y')$	y'

The free Boolean algebra on two variables has exactly sixteen elements. Thus there are exactly sixteen disjunctive and sixteen conjunctive “normal forms” for a Boolean expression in two variables. These sixteen disjunctive and conjunctive

normal forms in the variables x and y are shown above, where x' indicates “not x .”

I. B. Turksen [7] raises the question of inequalities that may occur when $x, y \in [0, 1]$, \wedge is replaced by an arbitrary t-norm \circ , $x' = 1 - x$ and \vee is replaced by the t-conorm \diamond dual to \circ . In other words, when is it true that the following inequalities hold?

Boolean Disj. \leq Boolean Conj.	
$(x \circ y) \diamond (x' \circ y) \diamond (x \circ y') \diamond (x' \circ y') \leq 1$	1
$0 \leq (x \diamond y) \circ (x' \diamond y) \circ (x \diamond y') \circ (x' \diamond y')$	0
$(x \circ y) \diamond (x \circ y') \diamond (x' \circ y) \leq x \diamond y$	$x \diamond y$
$x' \circ y' \leq (x \diamond y') \circ (x \diamond y) \circ (x' \diamond y')$	$x' \circ y'$
$(x' \circ y) \diamond (x \circ y') \diamond (x' \circ y') \leq x' \diamond y'$	$x' \diamond y'$
$x \circ y \leq (x \diamond y) \circ (x \diamond y') \circ (x' \diamond y)$	$x \circ y$
$(x \circ y) \diamond (x' \circ y') \diamond (x' \circ y) \leq x' \diamond y$	$x' \diamond y$
$x \circ y' \leq (x \diamond y) \circ (x \diamond y') \circ (x' \diamond y')$	$x \circ y'$
$(x \circ y) \diamond (x \circ y') \diamond (x' \circ y') \leq x \diamond y'$	$x \diamond y'$
$x' \circ y \leq (x \diamond y) \circ (x' \diamond y) \circ (x' \diamond y')$	$x' \circ y$
$(x \circ y) \diamond (x' \circ y') \leq (x \diamond y') \circ (x' \diamond y)$	$x \Leftrightarrow y$
$(x \circ y') \diamond (x' \circ y) \leq (x \diamond y) \circ (x' \diamond y')$	$x \Leftrightarrow y'$
$(x \circ y) \diamond (x \circ y') \leq (x \diamond y) \circ (x \diamond y')$	x
$(x' \circ y) \diamond (x' \circ y') \leq (x \diamond y) \circ (x \diamond y')$	x'
$(x \circ y) \diamond (x' \circ y) \leq (x \diamond y) \circ (x' \diamond y)$	y
$(x \circ y') \diamond (x' \circ y') \leq (x \diamond y') \circ (x' \diamond y')$	y'

To show that these inequalities do or do not hold for the sixteen $\text{BDNF} \leq \text{BCNF}$ inequalities, it suffices to consider the three inequalities

$x \circ y \leq (x \diamond y) \circ (x \diamond y') \circ (x' \diamond y)$	$x \circ y$	I
$(x \circ y) \diamond (x \circ y') \leq (x \diamond y) \circ (x \diamond y')$	x	II
$(x \circ y) \diamond (x' \circ y') \leq (x \diamond y') \circ (x' \diamond y)$	$x \Leftrightarrow y$	III

This is because each inequality must hold for all $x, y \in [0, 1]$. Suppose the inequality labeled $x \circ y$ in (1) holds. Then clearly it holds for those labeled $x \circ y'$, $x' \circ y$, and $x' \circ y'$. Now note that taking the negation of both sides of the inequality for $x' \circ y'$ gives the inequality for $(x' \circ y')' = x \circ y$ and hence for all of $x \circ y'$, $x' \circ y$ and $x' \circ y'$. Clearly, starting with the inequality for any one of these eight yields the inequality for all the other seven. So any of these eight are equivalent to the inequality labeled I in (2). Each of the inequalities labeled x , y , x' , y' in (1) implies each of the others and in particular are equivalent to the inequality labeled II in (2). Finally, the inequalities labeled $x \Leftrightarrow y$ and $x \Leftrightarrow y'$ are equivalent, and we denote the first by III.

We can express the t-conorm in terms of the t-norm and negation, so that we have only two operations to consider.

This gives us the three inequalities in the form

$x \circ y \leq (x' \circ y')' \circ (x' \circ y)' \circ (x \circ y)'$	I	(3)
$((x \circ y)' \circ (x \circ y'))' \leq (x' \circ y')' \circ (x' \circ y)'$	II	
$((x \circ y)' \circ (x' \circ y'))' \leq (x' \circ y)' \circ (x \circ y)'$	III	

So the basic question is “For which t-norms \circ do these three inequalities hold, where $x' = 1 - x$?”

II. DE MORGAN SYSTEMS

The appropriate setting for these considerations is that of a De Morgan system on the unit interval.

Definition 1: A **De Morgan system** on the unit interval is an algebra

$$([0, 1], \wedge, \vee, \circ, ', 0, 1)$$

where \wedge , and \vee denote min and max, \circ is a t-norm, and $'$ is a negation.

By negation, we mean strong negation—a one-to-one order-reversing mapping whose square is the identity. One could include in the operations the dual of the t-norm with respect to the negation, but since it is determined by the other operations, that is optional. The inequalities with which we are concerned hold when $\circ = \wedge$ and $x' = 1 - x$, as we have pointed out. Our concern is with strict t-norms and with nilpotent ones. There is some general theory that is applicable.

Theorem 2: [1] Any De Morgan system with strict t-norm is isomorphic to $([0, 1], \wedge, \vee, \cdot, ', 0, 1)$, where \cdot is multiplication, and $'$ is some negation.

Theorem 3: [2] Any De Morgan system with nilpotent t-norm is isomorphic to $([0, 1], \wedge, \vee, \blacktriangle, ', 0, 1)$, where \blacktriangle is the Łukasiewicz t-norm and $'$ is some negation.

Applying Theorems 2 and 3 gives the three inequalities in the following two forms:

Strict De Morgan system with product and $'$		(4)
$xy \leq (x'y')'(x'y)'(xy)'$	I	
$((xy)'(xy'))' \leq (x'y')'(x'y)'$	II	
$((xy)'(x'y'))' \leq (x'y)'x'$	III	

Nilpotent DeMorgan sys. with Łukasiewicz and $'$		(5)
I	$(x + y - 1) \vee 0$ $\leq (((x' + y' - 1) \vee 0)' + ((x' + y - 1) \vee 0)'$ $+ ((x + y' - 1) \vee 0)' - 1) \vee 0$	
II	$((((x + y - 1) \vee 0)' + ((x + y' - 1) \vee 0)' - 1) \vee 0)'$ $\leq (((x' + y' - 1) \vee 0)' + ((x' + y - 1) \vee 0)' - 1) \vee 0$	
III	$((((x + y - 1) \vee 0)' + ((x' + y' - 1) \vee 0)' - 1) \vee 0)'$ $\leq (((x' + y - 1) \vee 0)' + ((x + y' - 1) \vee 0)' - 1) \vee 0$	

For the strict case then, as far as these inequalities are concerned, one may as well consider only multiplication for the t-norm, and vary the negation. Doing this, the question becomes “For what negations do the three inequalities (4) hold?” This seems like an easier question, since a negation is a function of only one variable, while a t-norm is a function

of two variables. We suspect that there is no easy condition to require of a negation so that these inequalities hold. Similar remarks apply to the nilpotent case.

III. INEQUALITIES FOR DE MORGAN SYSTEMS

We show that the sixteen inequalities that hold for the t-norm min and the negation $x' = 1 - x$ hold for multiplication and Łukasiewicz, both with $x' = 1 - x$.

Proposition 4: The inequalities in (1) hold when \circ is multiplication and $x' = 1 - x$.

Proposition 5: The inequalities in (1) hold when \circ is the Łukasiewicz t-norm and $x' = 1 - x$

These are straightforward computations. In each case, it suffices to verify the three inequalities shown in (4) and (5).

For multiplication and $x' = 1 - x$, the first inequality becomes

$$\begin{aligned} xy &\leq (x'y')'(x'y)'(xy)' \\ &= (1 - (1 - x)(1 - y))(1 - (1 - x)y)(1 - x(1 - y)) \end{aligned}$$

or

$$\begin{aligned} 0 &\leq (1 - y)(1 - x)(x^2y - x^2y^2 + xy^2 - 2xy + x + y) \\ &= (1 - y)(1 - x)[(x^2y(1 - y) + x(1 - y) \\ &\quad + y(1 - x) + xy^2] \end{aligned}$$

which clearly holds. The second inequality becomes

$$((xy)'(xy'))' \leq (x'y')'(x'y)'$$

or

$$\begin{aligned} 0 &\leq (x'y')'(x'y)' - ((xy)'(xy'))' \\ &= (1 - (1 - x)(1 - y))(1 - (1 - x)y) \\ &\quad - (1 - (1 - xy)(1 - x(1 - y))) \\ &= y(2x^2 + 1 - 2x)(1 - y) \\ &= y((x - 1)^2 + x^2)(1 - y) \end{aligned}$$

which clearly holds. The third inequality is

$$((x'y)'x')' \leq (xy)'(x'y)'$$

or

$$\begin{aligned} 0 &\leq (xy)'(x'y)' - ((x'y)'x')' \\ &= (1 - xy)(1 - (1 - x)(1 - y)) \\ &\quad - 1 + (1 - (1 - x)y)(1 - x(1 - y)) \\ &= 2xy - 2xy^2 - 2x^2y + 2x^2y^2 \\ &= 2xy(1 - y)(1 - x) \end{aligned}$$

which clearly holds. Therefore all the inequalities hold for the product t-norm with the negation $x' = 1 - x$.

For Łukasiewicz, the first inequality is

$$(x + y - 1) \vee 0 \leq \{((x' + y' - 1) \vee 0)' + ((x' + y - 1) \vee 0)'\} + ((x + y' - 1) \vee 0)' - 2\} \vee 0$$

or

$$\begin{aligned}
0 &\leq \{(((x' + y' - 1) \vee 0)' + ((x' + y - 1) \vee 0)' \\
&\quad + ((x + y' - 1) \vee 0)' - 2) \vee 0\} \\
&\quad - ((x + y - 1) \vee 0) \\
&= \max\{0, 1 - \max(0, 1 - x - y) - \max(0, -x + y) \\
&\quad - \max(0, x - y)\} - \max(0, x + y - 1)
\end{aligned}$$

Since the expression is symmetric in x and y , there are two cases to consider:

$$x + y \leq 1, \quad x \leq y$$

and

$$x + y \geq 1, \quad x \leq y.$$

For the first case, we want

$$\begin{aligned}
0 &\leq \max(0, 1 - \max(0, 1 - x - y) - \max(0, -x + y) \\
&\quad - \max(0, x - y)) - \max(0, x + y - 1) \\
&= \max(0, 1 - (1 - x - y) - (y - x) - 0) - 0 \\
&= 2x
\end{aligned}$$

which holds. For the second case, we want

$$\begin{aligned}
0 &\leq \max(0, 1 - \max(0, 1 - x - y) - \max(0, -x + y) \\
&\quad - \max(0, x - y)) - \max(0, x + y - 1) \\
&= \max(0, 1 - (y - x) - 0) - (x + y - 1) \\
&= (1 - y + x) - (x + y - 1) \\
&= 2 - 2y
\end{aligned}$$

which holds.

The second and third inequalities are similar, if tedious, and we omit the computations.

Additional examples may be found in [4], including examples where these inequalities fail.

If the inequalities are satisfied in a De Morgan system, then they are satisfied in any isomorphic De Morgan system. In particular, these inequalities are satisfied in any De Morgan system isomorphic to $([0, 1], \wedge, \vee, \cdot, ', 0, 1)$, where as above \cdot is multiplication and $x' = 1 - x$.

For notational purposes, let $\alpha(x) = 1 - x$. Let A be the group of all automorphisms of the unit interval with its usual order. That is, A consists of all one-to-one mappings of the unit interval onto itself that preserve order. Then every negation is of the form

$$\alpha_g = g^{-1}\alpha g$$

for some $g \in A$. Let C be the subgroup of A consisting of all elements z that commute with α , that is, for which $z\alpha = \alpha z$. Let \mathbb{R}^+ be the set of positive real numbers. For $x \in [0, 1]$, defining $r(x) = x^r$ identifies \mathbb{R}^+ with a subgroup of A . Let

$$Cg\mathbb{R}^+ = \{cgr : c \in C, r \in \mathbb{R}^+\}.$$

Then the strict De Morgan system $([0, 1], \wedge, \vee, \cdot, \alpha_g, 0, 1)$ is isomorphic to $([0, 1], \wedge, \vee, \cdot, \alpha_h, 0, 1)$ if and only if

$$Cg\mathbb{R}^+ = Ch\mathbb{R}^+.$$

In particular, it can be seen by taking g to be the identity element of C , that the inequalities hold for the De Morgan

systems $([0, 1], \wedge, \vee, \cdot, \alpha_r, 0, 1)$ for $r \in \mathbb{R}^+$, in other words for Yager negations.

The nilpotent De Morgan system $([0, 1], \wedge, \vee, \blacktriangle, \alpha_g, 0, 1)$ is isomorphic to $([0, 1], \wedge, \vee, \blacktriangle, \alpha_h, 0, 1)$ if and only if

$$Cg = Ch.$$

This is equivalent to saying that $\alpha_g = \alpha_h$. All of this can be found in [1] and [2].

Consider De Morgan systems with t-norm multiplication. It is easy to find two non-isomorphic such De Morgan systems which both satisfy the inequalities. Negations are of two kinds: those for which the corresponding De Morgan system satisfies the three inequalities and those for which it does not. There does not seem to be a readily apparent group theoretic condition distinguishing the two kinds.

REFERENCES

- [1] M. Gehrke, C. Walker, and E. Walker, "De Morgan systems on the unit interval," *Int. J. Intel. Sys.* Vol. 11, pp. 733-750, 1996.
- [2] M. Gehrke, C. Walker, and E. Walker, "A note on negations and nilpotent t-norms," *Int. J. Approximate Reasoning*, vol 21, pp. 137-155, 1999.
- [3] M. Gehrke, C. Walker and E. Walker, "Normal forms and truth tables for fuzzy logics," chapter in Proceedings of Linz 2000 Conference, *Fuzzy Sets and Systems*, 2002.
- [4] C. Walker and E. Walker, "Inequalities in De Morgan Systems II," Proceedings of 2002 World Congress on Computational Intelligence, May 2002.
- [5] I. B. Turksen, "Inference regions for fuzzy proposition," in: P. P. Wang, Ed., *Fuzzy Set Theory and Applications*, Plenum Press, New York, pp. 137-148, 1983.
- [6] I. B. Turksen, "Fuzzy representations and inference with normal forms," in: J. Kacprzyk and R. R. Yager, Eds., *Management Decision Support Systems Using Fuzzy Sets and Possibility Theory*, Verlag, 1984.
- [7] I. B. Turksen, "Interval valued fuzzy sets based on normal forms," *Fuzzy Sets and Systems*, Vol. 20, pp. 191-210, 1986.
- [8] I. B. Turksen, "Interval-valued fuzzy sets and 'compensatory and'," *Fuzzy Sets and Systems*, Vol. 51, pp. 295-307, 1992.
- [9] I. B. Turksen, "Fuzzy normal forms," *Fuzzy Sets and Systems*, Vol. 69, pp. 319-346, 1995.
- [10] I. B. Turksen, "Non-specificity and interval-valued fuzzy sets," *Fuzzy Sets and Systems*, Vol. 80, pp. 87-100, 1996.
- [11] I. B. Turksen, "Universal truth tables and normal forms," *IEEE Trans. on Fuzzy Systems*, Vol. 6:2, pp. 295-303, 1998.
- [12] I. B. Turksen, "Theories of set and logic with crisp or fuzzy information granules," *Journal of Advanced Computational Intelligence*, to appear, 1999.